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[ docxtablepy eraph 1 py graph2py ryukeipy [ -3 = Er- 4

14 from openpyxl import Workbook, load_workbook ~ 2% B H4 T &

15 import copy _ —

16 import numpy as np dz object (2, 18) ndarray object of numpy module

17 impert matplotlib.pyplot as plt

18 import scipy.interpolate d3 object (2, 18) ndarray object of numpy module

9 import matplotlib.ticker
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def partgraph(xl,yl,a,b,c):

for list_obj in list(sheet):
i ( ) 0.00 001 010 100 10.00 100.00 0.00 0.01 010 100 10.00 100.00
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21

22 startl = min(x1) [PythonT4 =) =) &2
23 endl = max(x1) [ IS RPN rE-1
24 spl = scipy.interpolate.AkimalDInterpolator(xl, y1)

25 sxl = np.linspace(startl, endl, 1022)

26 syl = spl(sxl) In [71]: runfile('D:/Pythonsrc/ryukei.py”, wdir="
28 ax = fig.add subplot{a, b, c)

29 ax.set_xlim(startl, endl) 100 100
3@ ax.set_wxscale( log") 80 B0
31 ax.grid()

32 ax.plot(xl, yl, "bo") 60 60
3? ax.plot(sxl, syl, "b") 40

34

35 ax.set_xticks([@.801, ©.01, 6.1, 1,10,100]) 0 0
36 ax.get_xaxis().set_major_formatter(matplotlib.ticker.ScalarFormatt: o

?: 0.00 001 010 100 10.00 100.00 0.00 001 010 100 10.00 100.00
38

39 fig = plt.figure(figsize=(18, B)) 100 100
f? document = Document() 80 a0
a2 60 60
43 wb = load_workbook( ' ryudo.xlsx") a

44 sheet = wh[ “HifE '] 4
f:, items = [] 20 0
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8 item =[]

9 for cell obj in list(list_obj): - 100 100

1 item.append(cell_obj.value) Cl

; else: o a0

; items.append(item) o 40

6 arr = np.asarray(items) X

7 ar=arr.T 0

5dl = ar[@:2,:] 0.00 001 010 100 1000 10000 000 001 010 100 1000 10000

9 dl=d1[:,np.all{dl!=None, axis=@)] ]
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4 40m) 5 40rm) ~7.40rm) .40 ~9.40m) 1190~ 12 00~ {1400~ L8 00~ 2100~
2 11.30m) 12.40m] 14.40m) 18.40m) 21.40m}
3 75 75 i) 75 75 75 75 75 75 79
4 53 g3 53 53 g3 ] 53 g3 ] 53
5 375 375 7E 375 100 375 e a7e 375 e 378
3] 265 100 265 100 265 100 265 80 265 265 265 265 265 265
7 19 885 18 e} e 022 19 817 18 e 100 19 18 e 100 18
=] 95 851 895 714 95 805 95 58 =33} 100 G5 002 G5 =33} 100 G5 0oB &8
9 475 778 475 582 4.75 872 475 M8 475 202 475 929 475 475 ore 475 o7 4.7%
10 2 a7 2 463 2 a47 2 295 2 086 2 745 2 2 a8 2 872 a
11 085 54T 085 3541 085 82 085 213 085 G632 085 515 0.85 100 085 75 085 B26 0.85
12 0.425 442 0425 244 0425 759 0.425 158 0425 T 0425 a6 0425 999 0425 571 0425 7.7 0428
13 025 338 025 153 025 B8 025 123 025 704 025 374 025 958 025 425 025 766 0.28
14 0.106 128 0.106 83 0.106 185 0.106 85 0.108 63.7 0.106 322 0.106 997 0.106 168 0.106 739 0.10g
15 0075 161 0078 T2 0075 1249 0075 75 0078 618 0o7s 309 0075 955 0078 123 0o7s 73 0078
16 00514 138 0063 106 00524 BBE 0056 285 0.0514 &85 00526 107 00837 718 0.0522
17 0.0366 12 0.0376 87 00373 552 0.0398 257 0.0365 958 00373 88 00381 69.2 0.0371
18 00233 101 00230 71 00238 491 00254 217 0.0234 8665 00237 84 00243 65 0.0236
18 0.0136 =] 0.0138 55 00138 421 00148 174 0.0130 877 00137 72 00142 =) 0.0133%
20 0.00965 69 0.00882 45 0.00989 374 00106 145 0.0101 487 000975 G 00101 521 0.0097%
21 0 00626 BB 000656 a4 000704 227 000752 17 0.00723 B2 000651 E4 000725 430 0.00692
22| (00345 43 0.00345 21 000388 287 0.00375 =] 0.00368 208 0.00346 42 000366 314 0.0034%
23 000141 3z 000143 14 000147 1|7 0007156 57 0.00152 108 000142 28 000153 208 0.0014%
A hd

= ® . 5

H B O - 1 + 90%

ABRIFZZAREZATLLE I D ENTIE, £2HHE, (




